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2017 February Cisco Official New Released 500-285 Dumpsin Lead2pass.com! 100% Free Download! 100% Pass Guaranteed!
L ead?pass dumps for 500-285 exam are written to the highest standards of technical accuracy, provided by our certified subject
matter experts and published authors for development. We guarantee the best quality and accuracy of our products. We hope you
pass the exams successfully with our practice test. With our Cisco 500-285 dumps, you will pass your exam easily at the first
attempt. Y ou can aso enjoy 365 days free update for your product.  Following questions and answers are all new published by
Cisco Official Exam Center: http://www.lead2pass.com/500-285.html QUESTION 51  Alert priority is established in which way?
A.&#160;&#160;&#160; event classification B.&#160;&#160;&#160; priority.conf file C.&#160;&#160;&#160; host
criticality selection  D.&#160;& #160;&#160; through Context ExplorerAnswer: A QUESTION 52 Which mechanism should
be used to write an IPS rule that focuses on the client or server side of a TCP communication? A.&#160;& #160;& #160; the
directional operator intherule header B.&#160;&#160;&#160; the "flow" rule option  C.&#160;& #160;& #160; specification of
the source and destination portsin therule header  D.&#160;& #160;& #160; The detection engine evaluates al sides of a TCP
communication regardless of therule options. Answer: B QUESTION 53  Which character must precede a variable to indicate
that you are using a variable rather than astring? A.&#160;&#160;&#160; percent sign  B.&#160;& #160;&#160; dollar sign
C.&#160;& #160;&#160; ampersand  D.&#160;&#160;&#160; pound sign  E.&#160;&#160;& #160; asterisk Answer: B
QUESTION 54  What isthe best way to mitigate the risk that executable-code exploits will perform malicious acts such as erasing
your hard drive? A.&#160;&#160;&#160; assign deny actions to signatures that are controlled by the Trojan engines
B.&#160;& #160;& #160; assign the TCP reset action to signatures that are controlled by the Normalizer engine
C.&#160;& #160;&#160; enable blocking D.&#160;&#160;& #160; enable application policy enforcement
E.&#160;&#160;&#160; assign blocking actions to signatures that are controlled by the State engine Answer: A QUESTION 55

Which two of the following parameters affect the risk rating of an event? (Choose two.) A.&#160;&#160;&#160; alert severity
B.&#160;& #160;& #160; global summary threshold  C.&#160;&#160;&#160; signature fidelity rating  D.&#160;& #160;& #160;
scanner threshold  E.&#160;&#160;&#160; enginetype F.&#160;&#160;&#160; event count key Answer: AC  QUESTION
56 Which interface type allowsfor VLAN tagging? A.&#160;&#160;&#160; inline B.&#160;&#160;&#160; switched
C.&#160;& #160;&#160; high-availability link  D.&#160;&#160;&#160; passive Answer: B QUESTION 57  Which
statement is true concerning static NAT? A.&#160;& #160;&#160; Static NAT supports only TCP traffic.
B.&#160;&#160;& #160; Static NAT isnormally deployed for outbound traffic only.  C.&#160;& #160;&#160; Static NAT
provides a one-to-one mapping between |P addresses.  D.&#160;&#160;& #160; Static NAT provides a many-to-one mapping
between IP addresses. Answer: C  QUESTION 58  Stacking allows a primary device to utilize which resources of secondary
devices? A.&#160;&#160;& #160; interfaces, CPUs, and memory B.&#160;&#160;& #160; CPUs and memory
C.&#160;& #160;& #160; interfaces, CPUs, memory, and storage  D.&#160;& #160;& #160; interfaces and storage Answer: B
QUESTION 59  Which statement is true when network traffic meets the criteria specified in a correlation rule?
A.&#160;& #160;&#160; Nothing happens, because you cannot assign a group of rulesto a correlation policy.
B.&#160;& #160;& #160; The network trafficisblocked. C.&#160;&#160;& #160; The Defense Center generates a correlation
event and initiates any configured responses.  D.&#160;&#160;&#160; An event islogged to the Correlation Policy Management
table. Answer: C  QUESTION 60 The gateway VPN feature supports which deployment types? A.&#160;&#160;& #160; SSL
and HTTPS B.&#160;&#160;&#160; PPTPand MPLS  C.&#160;&#160;&#160; client and route-based
D.&#160;&#160;&#160; point-to-point, star, and mesh Answer: D We offer standard exam questions of Cisco 500-285 dumps.
The standard exams are important if you have never taken areal exam. The accuracy of the Q& As are fully guaranteed and the
number is enough to impact you passing the exam.  500-285 new questions on Google Drive:
https://drive.google.com/open?id=0B3Syig5i8gpDV FZxRktsQzNaNUQ 2017 Cisco 500-285 exam dumps (All 65 Q& As) from
Lead2?pass. http://www.lead2pass.com/500-285.html [100% Exam Pass Guaranteed]
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